MATHS

BOOKS - RD SHARMA MATHS
(HINGLISH)

OPERATIONS ON RATIONAL NUMBERS

All Questions

3 13
1. Addgand?

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_pijIO3oAmsLS

—12
2. Add%andT

o Watch Video Solution

—5 _
3. AddT andTl'?

o Watch Video Solution

4 7
T andﬁ

4. Add

o Watch Video Solution



https://dl.doubtnut.com/l/_pijIO3oAmsLS
https://dl.doubtnut.com/l/_eMXPJJHLukAy
https://dl.doubtnut.com/l/_s9G9gfglJIuY
https://dl.doubtnut.com/l/_SyT4p8ipbxwc

5 3
5. Add E andg

o Watch Video Solution

6. Add%and 4

o Watch Video Solution

3 —9
7. Addgandﬁ

o Watch Video Solution



https://dl.doubtnut.com/l/_SyT4p8ipbxwc
https://dl.doubtnut.com/l/_YmZGUHJQtAc1
https://dl.doubtnut.com/l/_6s1SmM8QdTqz
https://dl.doubtnut.com/l/_L1FM1JoIBWA5

o8 4
8. Simplify: T + 3

o Watch Video Solution

16
9. Simplify: —726 + 39

o Watch Video Solution

10. Add the following rational numbers:

—9 3 ... —15 7
T and7 (II) A andz



https://dl.doubtnut.com/l/_L1FM1JoIBWA5
https://dl.doubtnut.com/l/_2DbFmukVbI2g
https://dl.doubtnut.com/l/_kHHA7es2A0wx
https://dl.doubtnut.com/l/_VOaxRXrbnQa2

° Watch Video Solution

1. Add the following rational numbers:
—8 —4 6 -9
77 andp 0 gz and g5
o Watch Video Solution
12. Add the following rational numbers:

3 -3 . 3
7 and = (i) — 3 andg

° Watch Video Solution



https://dl.doubtnut.com/l/_VOaxRXrbnQa2
https://dl.doubtnut.com/l/_52bkNKMiYObX
https://dl.doubtnut.com/l/_fAlvF8mhCQ1x
https://dl.doubtnut.com/l/_bAbRsOHXSk1t

13. Add the following rational numbers:

— 11 31 —5
—7 and— (ii) — and—

27 18 —4 8

o Watch Video Solution

—11 (i) —5 n 7
6 16 24

14. Simplify: % +

o Watch Video Solution

, , 1 2 . =8 —4
15.S|mp||fy _—12 + _—15( ) 19 + 57

o Watch Video Solution



https://dl.doubtnut.com/l/_bAbRsOHXSk1t
https://dl.doubtnut.com/l/_StRgRwnJoUAT
https://dl.doubtnut.com/l/_7oUhbgaMFYQD

16. Add and express the sum as a mixed

faction: —12 . 43 o024 Z1 L
raction: 5 10 | 7 A 11
—31 27

6+8

o Watch Video Solution

17. Subtract o

Watch Video Solution


https://dl.doubtnut.com/l/_7oUhbgaMFYQD
https://dl.doubtnut.com/l/_CE12nNilcFQh
https://dl.doubtnut.com/l/_i96x9fhEWZ5F

18. Subtract —3 f —9
u ract —— 1rom ——
8 7

° Watch Video Solution

19. Subtract 3 from )
r — r' —
ubtrac : o) 0

° Watch Video Solution

—3
20. The sum of two rational numbers is T . If

one of the number is % , find the other.

o Watch Video Solution



https://dl.doubtnut.com/l/_AYquKYWlhqkN
https://dl.doubtnut.com/l/_wQK5ooaRTlob
https://dl.doubtnut.com/l/_LmuiXbDkoIkZ

—5
21. What number should be added to = SO as

5
t t—7?
o get 3

° Watch Video Solution

—3
22. What should be subtracted from e SO as

5
t t =7
o get -

o Watch Video Solution



https://dl.doubtnut.com/l/_LmuiXbDkoIkZ
https://dl.doubtnut.com/l/_vImVx4OJO274
https://dl.doubtnut.com/l/_QNihDZMU4Dfd

23.  sSimplify :  —— 4+ — —— (i)

5+—5 7
12 18 24

° Watch Video Solution

24. Subtract the first rational number from the

3 5
second in each of the following: 33 (i)
-7 4
9’9

° Watch Video Solution



https://dl.doubtnut.com/l/_00GJdxduzOpY
https://dl.doubtnut.com/l/_rMBIinieoFdA

25. Subtract the first rational number from the

: . -2 -9
second in each of the following: TREET] (i)
11 —4
137 13

° Watch Video Solution

2 3
26. Evaluate each of the following: 3% (1)
2

-3

4
7

° Watch Video Solution



https://dl.doubtnut.com/l/_tRTfiRB82Dwk
https://dl.doubtnut.com/l/_mQ1ZcHZj3xf8

4 -5

27. Evaluate each of the following: i (i)
5 5
9

° Watch Video Solution

28. The sum of the two numbers is 9 If one of

the numbers is 3 Find the other.

° Watch Video Solution



https://dl.doubtnut.com/l/_jctvtJOMKjK2
https://dl.doubtnut.com/l/_UOG7CExFKUjw

29. The sum of two numbers is 5 - If one of

, Find the other.

the numbers is

° Watch Video Solution

30. The sum of two numbers is = If one of

the numbers is 05, find the other.

° Watch Video Solution



https://dl.doubtnut.com/l/_D4KcAyqloXEO
https://dl.doubtnut.com/l/_BtMev6xZ1M94

31. The sum of two rational numbers is —8. If

— 15

one of the numbers is , find the other.

° Watch Video Solution

32. What number should be added to %7 SO as

t t =7
o get 3

° Watch Video Solution



https://dl.doubtnut.com/l/_u9fAhDeM2ZGo
https://dl.doubtnut.com/l/_SnxPQjDRVQn9

—5
33. What should be added to <7 soas to get
x,
33

o Watch Video Solution

—5
34. What number should be added to " to get

—2
— 7
3

° Watch Video Solution



https://dl.doubtnut.com/l/_c11l4vItTT5w
https://dl.doubtnut.com/l/_XLtMIchy8iNf

35. What number should be subtracted from

_5t t5‘?
5 toget =

o Watch Video Solution

1
36. What number should be subtracted from 35

t tl2
o get 15

° Watch Video Solution



https://dl.doubtnut.com/l/_MNPBf7J60wW9
https://dl.doubtnut.com/l/_O13r6DWprUkS

2 3
37. What should be added to (§ + E) to get
—2
— 7
15

° Watch Video Solution

1 1 1
38. What should be added to (5 + 3 + 3) to

get 37

o Watch Video Solution



https://dl.doubtnut.com/l/_TyoMIIb8KrhW
https://dl.doubtnut.com/l/_OfRm59l0u0BN

2
39. What should be subtracted form (% — §)

t t_l?
Ogel— ¢
8¢5

o Watch Video Solution

... —3 b 7 .90 7T =2
40. Simplify: —5 + 11 (i) 37 % T -
o Watch Video Solution
41 Simpli r_ 2 (ii)
Imp |fy Z — E — T 1]



https://dl.doubtnut.com/l/_gfWWCClcdcI6
https://dl.doubtnut.com/l/_guEvqdUJEip7
https://dl.doubtnut.com/l/_mfUmIHO2Nll2

l o Watch Video Solution

N —4 —3 ..
42. Fill in the blanks: 3~ 2% - (ii)
-
14 -
° Watch Video Solution
43. Fill in the blank _7+ 3(")+15 4
. n nks; — = — =
il i e blanks 9 i 53

° Watch Video Solution



https://dl.doubtnut.com/l/_mfUmIHO2Nll2
https://dl.doubtnut.com/l/_4WFVhPEn3DBQ
https://dl.doubtnut.com/l/_KlsFSY6OiO7T

3 5 3 —4
44, Multiply: 1 by = (ii) - by 5

o Watch Video Solution

. —9 . [ —36
45. Multiply: (T) by 4 (ii) (T) by
9

o Watch Video Solution

46. Simplify: 78 X 1—54 (i) 3 _918

I o Watch Video Solution


https://dl.doubtnut.com/l/_FkQrkHLLkrPd
https://dl.doubtnut.com/l/_ztV0CHoiI05f
https://dl.doubtnut.com/l/_LzQEJzeviBgA

—9 2 — 22 —51

° Watch Video Solution

—-16 20 15 —
48. Simplify: ( = X 3 ) — (? X 535)

—3 4\, (9 W0 1x3
2 * 5 5 3 ) \2x4

° Watch Video Solution

5 5. -3
49, Multiply: 1—71byz (ii) 7byT


https://dl.doubtnut.com/l/_LzQEJzeviBgA
https://dl.doubtnut.com/l/_a3mivwE0q1b3
https://dl.doubtnut.com/l/_oLOQCpBIvsOz
https://dl.doubtnut.com/l/_uSSj1kaAWU22

° Watch Video Solution

— 5 3 —5
50. Multiply: 3 by 1 (i) 17 —

° Watch Video Solution

51 6 —55

—9
51. Multiply: T by 60 (Il) 36

° Watch Video Solution

—8 —5 —49
52. Multiply: 55 by 6 (||) — by 36


https://dl.doubtnut.com/l/_uSSj1kaAWU22
https://dl.doubtnut.com/l/_v31HzvnzmL03
https://dl.doubtnut.com/l/_uJ8lr3st4yyq
https://dl.doubtnut.com/l/_ARl6Gjk34ZKL

° Watch Video Solution

53. Simplify each of the following and express

the result as a rational number in standard from:

16 14 .7 =3
21 5 V% " 28

° Watch Video Solution

54. Simplify each of the following and express

the result as a rational number in standard from:

—19 —13
x 16 (ii) X 27
36 9 — 26

| e |


https://dl.doubtnut.com/l/_ARl6Gjk34ZKL
https://dl.doubtnut.com/l/_msmfJvGHEFkN
https://dl.doubtnut.com/l/_hQSzoseJCquQ

& Watch Video Solution ]

" 2 2\ .
55. Simplify: (— 5 X 1—5) — (— 6 X 5) (i)
4 3 2 §

° Watch Video Solution

56. Simplify:
13 —15 7 8 3 1
o “ 2 )T \3*%) T 53
3 5 9 4\, (5 6
11 7% 12 ° 3 13~ 15

° Watch Video Solution



https://dl.doubtnut.com/l/_hQSzoseJCquQ
https://dl.doubtnut.com/l/_9PSsovRYFtB6
https://dl.doubtnut.com/l/_6TOs4XsPsxSa

57. Write the reciprocal of each of the following

rational numbers: 7 (ii) —11

° Watch Video Solution

58. Write the reciprocal of each of the following

—7
ti I :— (i) —
rational numbers : (i) B

° Watch Video Solution



https://dl.doubtnut.com/l/_6TOs4XsPsxSa
https://dl.doubtnut.com/l/_WiNYM5QpJ6q8
https://dl.doubtnut.com/l/_eSEBDpJCitvg

3 _
59. Find the reciprocal of: X !

8 13

° Watch Video Solution

3 4 8 4
60. Divide: — by— (ii) — by—
ivide = y25 (i1) 5 y3

° Watch Video Solution

- byé (i) =2 py—>

61. Divide:
vide o W3 W g W

° Watch Video Solution



https://dl.doubtnut.com/l/_DOgayCwtli27
https://dl.doubtnut.com/l/_W7v3PN33Lygb
https://dl.doubtnut.com/l/_XZ4w38cIojif

62. The product of two rational numbers is

— 28 . 14
—— If one of the numbers is —, find the
81 27

other.

° Watch Video Solution

3
63. By what number should we multiply EEVE

so that the product may be 3

° Watch Video Solution



https://dl.doubtnut.com/l/_4qfYis0VXrf1
https://dl.doubtnut.com/l/_ak8TC3igxfV7

1 —5
64. Divide: 1 by 5 (i) 5 by 7

° Watch Video Solution

.. =3 9 .7 —21
.D : — —
65. Divide 1 by_16 (ii) 3 by 16

° Watch Video Solution

7 63 —7
66. Divide: b i) 0 by —
ivide 1 y64 (i) 0 by =

° Watch Video Solution



https://dl.doubtnut.com/l/_AbbUvEvYGakQ
https://dl.doubtnut.com/l/_KqPCJ3PWHINg
https://dl.doubtnut.com/l/_f9xUtySpNGL7

-3 —7
67. Divide: T by 6 (”) § by 12

° Watch Video Solution

68. Find the value and express as a rational

ber i tandard form: 2.2 (ii)
numper N standar orm: g . 1—5 11
10 -35
3 12

° Watch Video Solution



https://dl.doubtnut.com/l/_O3ELQ7fXh6Og
https://dl.doubtnut.com/l/_vvR8ihEzcocw

69. Find the value and express as a rational

—8
number in standard form: —6 =+ (—) (i1)

17
40
— =+ (—20
o5+ (—20)

o Watch Video Solution

70. The product of two rational number is 15. If

one of the numbers is 10, find the other.

° Watch Video Solution



https://dl.doubtnut.com/l/_sq5XWtPggjgk
https://dl.doubtnut.com/l/_8p9szhE7pwTa

—8
71. The product of two rational numbers is —.

9
—4
if one of the numbers is 5 find the other.
° Watch Video Solution
72. By what number should we multiply —T SO
—23
that the product may be 5 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_TD0x7r5HqOoF
https://dl.doubtnut.com/l/_5f7yx4uJq9yM

— 15

73. By what number should we multiply 53 SO
—5
that the product may be — ?
° Watch Video Solution
74. By what number should we multiply 1—3 SO

that the product may be 24?7

° Watch Video Solution



https://dl.doubtnut.com/l/_RBpktJBoT3z0
https://dl.doubtnut.com/l/_54qcTqfnAfot

-3
75. By what number should e be multiplied in
2

order to produce 3 ?

° Watch Video Solution

3

2

2
76. Find (a:—l—y)%(w—y), if x = g,y

1 5 -1
2 ¥~ -

2
(e =7,y= V=3

° Watch Video Solution



https://dl.doubtnut.com/l/_iCRIzqdvHycq
https://dl.doubtnut.com/l/_YnaBkXRDUGD6

2 3
77. The cost of 7§ metres of rope is Rs 122.

Find its cost per metre.

° Watch Video Solution

1 1
78. The cost of 2§ metres of cloth is Rs. 75Z .

Find the cost of cloth per metre.

° Watch Video Solution



https://dl.doubtnut.com/l/_cS7rCJx4XVPL
https://dl.doubtnut.com/l/_sN1biNKQcmao

—33

79. By what number should 6 be divided to
—11
t ?
get —

° Watch Video Solution

. —13 12
80. Divide the sum of = and a by the
duct f_31 d 1
product of —— and —

° Watch Video Solution



https://dl.doubtnut.com/l/_8JHAHpiRmxka
https://dl.doubtnut.com/l/_CqL9BP3UCOi1

. 65 8 _
81. Divide the sum of Eandg by their

difference.

° Watch Video Solution

82. If 24 trousers of equal size can be prepared in
54 metre of cloth, what length of cloth is

required for each trouser?

° Watch Video Solution



https://dl.doubtnut.com/l/_NVyK5oTyuG57
https://dl.doubtnut.com/l/_rIjqEa4Qlums

83. Insert 10 rational numbers between

-3 8
T andﬁ

o Watch Video Solution

84. Insert 100 rational numbers between

-3 9
1—3 and1—3

° Watch Video Solution



https://dl.doubtnut.com/l/_T4b8hV69oulR
https://dl.doubtnut.com/l/_48GT73QnpUUa

85. Find six rational numbers between

—4 3
5 andyg

o Watch Video Solution

86. Find 10 rational numbers between

° Watch Video Solution



https://dl.doubtnut.com/l/_pXgp3yxo1rfx
https://dl.doubtnut.com/l/_GsiBq3FsLFeq

87. State true or false: Between any two distinct
integers there is always an integer. Between any
two distinct rational numbers there is always a
rational number. Between any two distinct
rational numbers there are infinitely many

rational numbers.

o Watch Video Solution

— 11
88. What should be added to T7 to get 27 9

b—11 —25d25
()9 9()?

| & l


https://dl.doubtnut.com/l/_poUE7zjrJXI2
https://dl.doubtnut.com/l/_kPUddI5rpMWt

| ¥ Watch Video Solution ]

—2
89. What should be subtracted from —— to get

3
4, 22 (b) —922 15 " ~15
3' 15 15 22 29

o Watch Video Solution

90. Reciprocal of T3 is (a)— (b) é (C)—4 (d)

None of these

° Watch Video Solution



https://dl.doubtnut.com/l/_kPUddI5rpMWt
https://dl.doubtnut.com/l/_gGK6ZofNzt4u
https://dl.doubtnut.com/l/_YSjHtZJYt13m
https://dl.doubtnut.com/l/_AQsqreySeJTY

4

91. The multiplicative inverse of — is — 5 (b)
5 5 ) -5
4 —4 —4
° Watch Video Solution
1+ = 22 2T
T T 7 5
° Watch Video Solution
93 —5+?_ 18(b)_8 —18 18
" 13 T 13 13 13 13

° Watch Video Solution



https://dl.doubtnut.com/l/_AQsqreySeJTY
https://dl.doubtnut.com/l/_1pVZD8av6WXR
https://dl.doubtnut.com/l/_igugevz6K141

940'§—O(b)53(d) ’
5 35 5

° Watch Video Solution

—11 11 —45 )45
7 T T 7

95 23+4—7
. - =

° Watch Video Solution

96. If the product of two non-zero rational
numbers is 1, then they are (a)Additive inverse of

each other (b)Multiplicative inverse of each


https://dl.doubtnut.com/l/_Qbqj9XgWRktu
https://dl.doubtnut.com/l/_uQqkItu3PguN
https://dl.doubtnut.com/l/_AlQP29vG0q0g

other (c)Reciprocal of each other (d) Both (b)

and (c)

° Watch Video Solution

5 2 1 .
97.The product 37 X IE X 13 X 1ﬁ is equal

8 4 4 4
to 53 (b) 53 .83 (d) 43

o Watch Video Solution

98.1 - 1— 1(b)311(d)31
1T g = ghislzldsy

o Watch Video Solution



https://dl.doubtnut.com/l/_AlQP29vG0q0g
https://dl.doubtnut.com/l/_dihCi0UKeizP
https://dl.doubtnut.com/l/_OOYS9wZYBUoO

5 5 5 6 —6
99.(—2)7 (—g) = g(b)—g g(d)T
° Watch Video Solution
T 1 3 4 3
100.|f§ + 3= 1, thenz = 1 (b) 372 (d)
—4
3
o Watch Video Solution
7 —2 3 3 —7 7
e I IAAST)


https://dl.doubtnut.com/l/_OOYS9wZYBUoO
https://dl.doubtnut.com/l/_Ell9hAWxnK5t
https://dl.doubtnut.com/l/_OqBSmxxxch2f
https://dl.doubtnut.com/l/_95RAb6283RR3

° Watch Video Solution



https://dl.doubtnut.com/l/_95RAb6283RR3

